E1785

1%
EORS  UpdLa< h BAB  AKEL AHD vr @A
RZED Bl BRT RO ZEE RO O AN ELT WK, =Atthe placement bureau (the

department of finding employment) in the university, the female student and the person in
charge are talking together.

KEH S =from next year /

LpSL&<MDES
ik JEE%Z = job-seeking + % <direct-object particle> /
FU
98 % = <plain-style-nonpast-affirmative> of 38 £ 9" g2 = start, begin /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =...... |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really
want to say so ; because ...... — A can be changed to @. /

H. =1but 2 <used toshow a hesitation>
AVET—=yTo>T=AVF—2v 7T EWDS D (F =the thing called an internship + [& <topic

particle>
*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.)
* We often ~ > T or ~ & UL\5 DI to indicates the thing which we don’t know about much

before asking a question. /

b%ﬁ“ﬁ’? = finding employment, inauguration /

\C <purpose particle> /

%%?J = advantageous, better, profitable, lucrative

* We often leave out /< in ‘{na-adjective / noun] 72’ which is the plain-style of ‘{na-adjective /
noun] C9°.

2T = & <quotation particle> /

F%L\TC = heard = <plain-style-past-affirmative> of B & &£ 9 g1 (hear, listen) /

AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] AL T =...... N

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to ®.

[7&E, =1but 2 <used to show a hesitation> //

| will start a job-seeking next year. And | heard that ‘internship’ was advantageous for finding
employment.
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M:
(o))

ﬁﬁ]o'( WS Z&=FF £W> Z& & HD XA =there is not such a thing like

‘advantageous’. &

*~ & WS & E B EEA =there is not such a thing like ~ &=
|7& =1but 2 <used to show a hesitation> /

Ro =....,isntit? ; ..... , am | right? <confirmation particle> //

TH. =but/

Fres

1< Z & % =to work, working + % <direct-object particle>

* 8 < = <plain-style-nonpast-affirmative> of @)1= £ 9 g1 = work /

Lo2w
EPRIC = virtually, practically, in practice, currently, presently /

?ZIE%’C% % = <plain-style-nonpast-affirmative> of {£5& T & £ 9 = can experience, be able to
experience = potential-verb of {&5& L £ 9 g1 = experience /

WLWWF+ > X =good chance /

— the good chance that (X) practically can experience working.

Tldd D £¥9 = ‘[na-adjective / noun] Td D F 3’ which is more formal than ‘{na-adjective /
noun] T9 =is (are, am, etc) Y& We can emphasize the expression by using (.

&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

But, it (internship) is the good chance that you can experience working in practical.

HD. =errr,well /

(V]
(& = as a matter of fact, in fact, to tell the truth /
L

e =1/
X712 = (not) yet, still /
Le<Un

HFED' = type of occupation, occupational category + h' <direct-object particle for the potential-

verb>/
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(9773

BNTHEL T = EF A, LT, =cannot squeeze and ...

* ¥ F 9 = can squeeze, be able to squeeze = potential-verb of D £J g1 (squeeze)

* [nai-form &L\ — 72 < T] = A [nai-form &L\ — 9 (IZ)] = don’t do ~ and .... <used to join

sentences>/ don’t do ~ and therefore <used to show a reason> ¥ ULBRWT =87 (l2),
not LY (IC)
* [nai-form 7R L\ — 7R WT] = O [nai-form 7R L\ — 9 (IZ)] = without doing ~ * LRRWT =

9" (I2), not LI (I2) /

TZE % Z1F =as much as possible /

?Aé < = widely, broadly, speciously /

% 72\ = <plain-style-nonpast-affirmative> of & 7c L\ T = want to see

* [masu-form] 7=L\T9 = want to do ~

7% = <Here 7% implies ‘I wish’.>

& <quotation particle> /

%\o T3 = B> 7T W3 = <plain-style-nonpast-affirmative> of > T LWEX 9 = be thinking now /
AT =[plain-style (but, ‘da’ of {na-adjective / noun] da’ becomes ‘na’.)] L T9 =...... |

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to @. /

[7&E, =1but 2 <used to show a hesitation> //

Errr, to tell the truth, | haven’t been able to narrow down occupations categories (types of
occupations) (that | want to choose) yet, so | am thinking that | want to see as many
occupations as possible.

;hé:\ = and then, even so, and /

afo‘%?b“ = money + H' <direct-object particle for the potential-verb> /

H 5 2% D =the one (thing) that (X) can receive

*$ 5 X % = <plain-style-nonpast-affirmative> of 5 X £ 9 = can receive, be able to receive =
potential-verb of £ 5UL\XJ g1 (receive, get) /

— the one which (X) can get money /

H =also/

3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 (there is ~, have, exist) /

> T = & <quotation particle> /

3/26



=
B\ = heard = <plain-style-past-affirmative> of Bl &9 g1 (hear, listen) /
AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] L T9 =...... |

wonder ; ...... , I doubt ; .....,  want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to @. /

[7&, =1but 2 <used to show a hesitation> //

And | heard that there was also the one (internship) which we could get money.

M:
» . =Ah, Oh,/
Z 1 & =that + [& <topic particle> /
%Eé = employees /
t / N -
73 Li% Dfi%’a“: = about the same job + %Z <direct-object particle> /
9 % = <plain-style-nonpast-affirmative> of U% ¥ g3 =do/
F§E§947’J = ‘practical type’
* 22i% = practice, put into practice, carrying out, going through with something, putting

something into action /
T9, =is (are, am, etc.) //

Oh, that is ‘the practical type’ that you do about the same job as employees.

IS5Lw5hA ITSHFD
HOERI D S BH = from several weeks to several months + 5% <subject particle> /
Wo [FATE

—iREIT9 = (X) is general (typical, popular) /
o =....,isntit? ; ....., am | right? <confirmation particle> /

From several weeks to several months is general. —

The duration of the internship is from several weeks to several months in general.

I
=
oF
X
anp
&c
1l

special technical skill (practical knowledge, technical ability, technical knowledge)

P = (X) ¥ (Y) = (X), (Y) and so on (, etc.) /
50L&
N1 LARILD ®EFAY = high-level knowledge + ' <subject particle> /

02&5

ET, =WhETYI, LT, =(X)is necessary and ....
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* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. /

n \

HTH 2T DT IT I WHRLY = <plain-style-nonpast-affirmative> of 3 TH & 55 blF I
[FW&E XA =1cannot say that anybody is OK to do it (because | have a reason)

i<

* & D = <plain-style-nonpast-affirmative> of EL\& 9 g1 = say
* [dictionary-form] 0|7 I (& WE X A =1cannot do ~ (because | have a reason) (N2 No.

44A)
[7&, =1but 2 <used to show a hesitation> //

It (the practical type) needs a special technical skill and a high-level knowledge, so | cannot say
that anybody can go for this type.

F:
I3, =ah, <word used to express a variety of emotions (delight, relief, surprise or
contempt)> //

7 —20O & D =such as a word processor
* &H =such as, like, as an example of, like for example /
Uw. 726HTY =[noun] U 72HTT =[noun] TlE 726 TT = Ifitis [noun], it is useless

(vain, hopeless, not functional, not practical; impossible; prohibited) ; [noun] is useless (vain,
hopeless, not functional, not practical; impossible; prohibited) /
& =...., you know? ; ..... | tell you. ; ..... , | am convinced. /

o =....,isntit? ; ....., am | right? <confirmation particle> /

Is being able to use the thing such as a word processor useless? | am convinced. Am | right?

M:
<2 T9 1, =That’s right. //

F:
TZEnIE. =if possible /
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%Eﬁbﬁa%’c =in a short term /

WaW3 & ?ZILS%%# = various experiences + H‘ <direct-object particle for the potential-verb> /
T & % = <plain-style-nonpast-affirmative> of T& ¥ 3 sg2 =1 can do, be ableto do 2 be
ready, be completed, be finished = potential-verb of L &9 g3 (do) /

& =... and naturally (consequently) ~

LY = <plain-style-nonpast-affirmative> of L\L\TY = (X) is good

* [dictionary-form] & WWTY =1 wish ~/

AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A T9 =...... |

wonder ; ...... , I doubt ; .....,  want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to @. /

[7&, =1but 2 <used to show a hesitation> //

If possible, | wish | could have various experiences in a short time.

M:
Z5TIh, =Isee.;lIsthat so? //

W3 A 7 = W55 74 = various, many kinds of

%:é%%': = enterprise, company, business; concern; undertaking + %z <direct-object particle> /
%7‘: L\ = <plain-style-nonpast-affirmative> of & 7c\L\C9 = want to see

* [masu-form] 72WL\C9 = want to do ~ /

25, = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ must be omitted.)] X 5 =if ~

<supposition> <lt is followed by an expression that conveys the speaker’s judgement or a
question asking for the listener’s opinion.>/
"X+ —%+47, h' =‘seminar type’ + H' <subject particle> /

WLWWTT = (X) is good /
&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //

If you want to see various companies, ‘the seminar type’is good.

AWUD

Y H = weekdays /

@D <possession particle> /
W5(Zh 35D

—HMZHT =in one day or two days /
MWL e 2h

2L DH % = the inside a company + % <direct-object particle> /
H el
R 7TEl>7 D, =look around, and do other things as well
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* B C[A - fc = <plain-style-past-affirmative> of R T[E]D £9 g1 (look around, tour)

* [ta-form] D [ta-form] D U &9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /

TIF—IC 523/”7]7!3]\ U 7c D = participate in a seminar, and do other things well

* 2L fz = <plain-style-past-affirmative> of 230U £ 9 g3 (participate)

* [ta-form] D [ta-form] D U ¥9J = do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~

9 % = <plain-style-nonpast-affirmative> of U &9 = part of [ta-form] D [ta-form] D UFE I’ =do
~, do ~ and do other things as well, do many things such as doing ~ and doing ~

AT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] L T9 =...... |

wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... , | want to emphasize ; ..... , | really
want to say so ; because ...... — A, can be changed to ®.
&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //

You look around the inside of the company, participate in a seminar and do other things as well
in one day or two days on weekdays.

Z > &, =Let me see, ; Let me think /
ZhH 5. = after that, and then, in addition to that, /

(A% lcLw>hAT W E
1. 2B BEWQ S, =if (X) is talking about around one or two weeks, /
=Wtk

"MEERY 1 71 H' = ‘experience type’ H' <subject particle> /
H D XTI, gl =thereis ~, have, exist //

Let me see, in addition to that, if you are talking about around one week or two weeks, there is
‘the experience type’.

(o3 Wo U &

= D ANE —i#&(T = with the person who is in charge of sales together

* B2 = business, trade, management /

Z’iilﬁlo D L7z D =go outside to get a job, and do other things as well

*A\ED U7z = <plain-style-past-affirmative> of 2L [E]D U £ 9 = go outside to get a job

* * [ta-form] D [ta-form] O U F 9 =do ~, do ~ and do other things as well, do many things
such as doing ~ and doing ~ /

U &X 9, =partof Jta-form] D [ta-form] D U EX 9’ (do ~, do ~ and do other things as well, do

many things such as doing ~ and doing ~) //

Yu go outside to get a job with the person who is in charge of sales, and do other things as well.
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3. = Ah! (expression of surprise, recollection, etc.), Oh!/
f=72. = but, however, nevertheless /
Z1 & = this + [ <topic particle> /
» 3 %%Lfié* =a certain degree (grade, standard, amount) /
©H fzn {bi%b“ = the job which (X) want to do
* P D fz\L\ = <plain-style-nonpast-affirmative> of © 0D 7=\ T9 = want to do
*DFXI =1do 2 (superior) give (inferior)
* [masu form] 71_\,\?? want to do ~ /
a"&i ST W53 )\ = the person that (X) is decided
*JRE > T L3 = <plain-style-nonpast-affirmative> of ;R X > T L\X 9 = be being decided now
*RED XY g1 =be decided, be settled
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
Lu <recipient particle> /
BWT £ =BT WET =be facing now
* M E £ 9 = face, turn toward, be suited to, be fit for
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
o =....,isN'tit? ; ....., am | right? <confirmation particle> //

Ah! But, this is suited to the person who has decided the job which he wants to do up to a

certain degree. &

W5 W5 =various /
&% % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 (there is ~, have, exist) /
A TTYT =[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] AL T =...... |

wonder ; ...... , I doubt ; ....., | want to draw your attention ; ....., | want to emphasize ; ....., | really
want to say so ; because ...... — A can be changed to @.
o =....,isntit? ; ....., am | right? <confirmation particle> /

There are various types.

% & ld. =The other thing is ~ /
& Z I = over there + | <existence particle> /
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RA % —h = poster + H' <subject particle> /

,ﬁfiﬁof &» D I =be pasted

* B D 9 g1 = stick, paste, affix, fasten, cause to adhere

* [te-form] 86 D £ 9 = be ~, (X) did ~ intentionally and the state resulting out of the action still

remains <used to describe the state which results as a consequence of an action intentionally
done by someone>/

[7E. =1but 2 <used to show a hesitation> /
Lw>ULA B

H & #IC = birthplace + (< <arrival particle> /

ﬁ%o T=I®DZXI, £ULT. =return (go back) and .....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

<Z D ?Ej&%?T = a company there + C <particle which shows the place where the action takes

place.>

* /P2 = enterprise, company, business; concern; undertaking /
Tl

fHMET % = <plain-style-nonpast-affirmative> of A€ L £ ¥ g3 = have training /
rf’ffé@’l’ 71 ‘the local type’/

— ‘the local type’ that (X) have training at the company there

H=also/

» D FE9I, =thereis ~, have, exist //

The other thing is, the poster is pasted over there, there is also ‘the local type’ that you go back
to your birthplace and have training at the company there.

WohiF2>Twnwe
1 4 BRZEAH' = about one month + ' <subject particle> /
Wo [FATE

—%E9 = general, typical, popular /
W73, =[[plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] h\7/& = ...... , | wonder?

(You go for training) for about one month in general, | wonder.

Blx &3 Wo i 2

B UFTIC 1 4 BTIH. = (Do | stay at) the same place for one month? //

N5, =if so, in this case, /
WBA 7 =W3BUWL3 7 =various /

ML

£4t% = company + % <direct-object particle> /
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%‘C & 12\ = <plain-style-nonpast-affirmative> of 8T & 72U\ T9 = want to try to see

* B &9 sg2 = see, watch, look

* [te-form] & E 9 = try to do ~, do ~ and see how

* [masu-form] 72L\C9 = want to do ~

M5, =because ~/

Zh I UE I, =make ~ this, choose this, decide on this

* (A) Z [stem of i-adjective] < U X, (A) Z [stem of na-adjective] [C U X = make (A)

[adjective]
*(A) Z [noun] I UL X9 = make (A) [noun]

* [noun] (I U &9 =decide on [noun] //

If so, | decided on this (I choose this) because | want to try to see various companies.

BAZ  HBLKEW

®5EF
TDZEG EDIATD A>T =2y I IWHELUXRI D = what type of internship does the
female apply?

G -t

)

ES

5%

4 4 7 =the practical type /

2
I+ —% A7 =the seminar type /

3

feWiFh

K& % 1 7 = the experience type /

4

b &

ibﬁﬁﬁ*f 7 =the local type /

FOR
BRI, =recently /
Ic® D FWz>5

&<
D ECixD EH HY = the delay of the delivery of baggage (luggage, parcel) + ' <subject

particle> /
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(23
B i > T L3 = <plain-style-nonpast-affirmative> of B3> T \L\X 9 = be being conspicuous

now, be standing out now, be being noticeable now
*BHiI5E 9 g1 = be conspicuous, stand out, be noticeable

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

& 5 = [plain-style (but, ‘da’ of [na-adjective] da’ and ‘{noun] da’ becomes ‘na’ and ‘no’
respectively)] & 3 T9 = (According my academic analysis, ) it looks like that ~

Ay

AT, = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] L T9'=...... , | wonder ; ...... , | doubt ; ....., | want to draw your attention ; ....., |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //

It looks like that parcels often delay to deliver, | really want to say so. 8-

7RIT
fAlH = something /
Hh
LYW\ Z (& = good plan + & <topic particle> /
* 52 = plan, program, scheme; proposal, proposition; blueprint; offer, tender, bid; estimation;

impression; expectation; conjecture, surmise; table, desk; draft
72 \\ = there is not ~ = <plain-style-nonpast-negative> of % D £9 g1 (there is ~, have, exist) /

H\ <question particle>

o =....,isntit? ; ....., am | right? <confirmation particle> /

Isn’t there any good plan?
Don’t you have any good plan?

M2:

WE lFWe>

S0 BCZE)L— b % = current delivery route + % <direct-object particle> /
o0

f£5 = <plain-style-nonpast-affirmative> of f£L\£ 9" g1 = use /

& =.... and naturally (consequently) ~ /

U S7W

S >
~E S

/

C = by a traffic jam /

A >\(Fr§
e

<

& Z AT N B = <plain-style-nonpast-affirmative> of = AAE 1N K I (be rolled up) which is the
passive-verb of ZZAA X I g1 (roll up, warp; involve) /

& 2 TT = [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’
respectively)] & 3 T3 = (According my academic analysis, ) it looks like that ~

&Ko =....,, you know? ; ..... | tell you. ; ....., | am convinced. //
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If we use the current delivery route, it looks like that we are caught in a traffic jam.

;Izi/ﬁ/‘u”/ub@’s &=
LZEHME®D KFiC = when there is the training course for safe driving

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively.)]
& & =when (X) do (did, is doing, was doing, etc) ~ /

R Z 4 /\—A" = driver + H' <subject particle> /

%9’( FUlo = 5> 7T WX UK =was saying

*EWEXT g1 =say

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Where there was the training for safe driving, the driver was saying so.

M1:
Z D hH. =<plain-style> of 5 T3 H =1see. ; Is that so?

i » 3. =if that is the case, then /

%ﬁ@ JL— & %Z = another route + %Z <direct-object particle> /

%%’C =FEZ%9, £ULT. =considerand ....

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And
it is sometimes used to show reason as well. /

fiﬁjﬁ%;&: = traffic jam + %Z <direct-object particle> /

55%_67‘%) £DIC Ul £S5 TU &S D =more polite than i l72 KSIC Lics €5 TI D,
= Why don’t we make sure that we avoid ~? <suggestion>

* TS KDl Uz = <plain-style-past-affirmative> of & (7% K 3Ic UE 9 (make sure that

(X) avoid)
* [dictionary-form / nai-form] & 5 (C U &9 = make sure that (X) do / don’t do ~

* [plain-style-past] 5 &5 TU & 2H% = more polite than ‘[plain-style-past] 5 £ 5 TI h\,
Why don’t you do ~? ; Why don’t we do ~7? ; How about doing ~? ; | suggest to you that you
should do ~. <suggestion>

*TU & 2M =[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TUL & 2 H

is more polite than the question which ends the normal polite-style, and is often used when you
question your superior. * Actually TU & > means ‘1 Probably ....... 2 e , right? //

Then, why don’t we consider another route and make sure that we avoid a traffic jam?
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M1:

F

fllc = in addition, besides /

AYA %Laﬁ = good road + [& <topic particle>

3 % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 (there is ~, have, exist) /

W73, =[[plain-style (‘da’in [na-adjective / noun] da’ must be omitted.)] Hh\7/& = ...... , | wonder? //

In addition (to the current route), is there any good road (route), | wonder?

M2:
Zh & D. =instead, in place of; as a replacement, apart from that, other than that, leaving that

aside, more ... than that /
HE [N ) Z
Y oT % mYDEHAH %, =the loading of baggage that (X) is doing in the morning + %

<direct-object particle>
* > 5T % = <plain-style-nonpast-affirmative> of *> > T LWE 9 = be doing now

*PDFEI =1do 2 (superior) give (inferior)

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
S h

&7 . =evening /
Sl |
JREEHTIC = before returning home /

I X, =if (X) do = conditional-form of L &9 g3 (do) /
Ws U h A

1 BEFf (& = one hour + & <topic particle> /

v

B< =early/

[FWieD

BCE (T = delivery, distribution + IC <purpose particle> /

.':E 51 E 9 =can go out, be able to go out = potential-verb of HE 3 g2 (go out, leave) /
& =...., you know? ; ..... | tell you. ; ....., | am convinced. /

o =....,isn’tit? ; ....., am | right? <confirmation particle> /

Instead, if we do the loading of baggage that we are doing in the morning before returning
home, —

Instead, if we load baggage before returning home although we are currently doing it in the
morning,

we can go out for delivery at least one hour earlier. 8-

M1:

W50 h A

1 B5fE < 5L\ = about one hour /

3w

B< =early/
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.‘:E’C H =even if (X) go out (leave)

*HH¥E 9 g2 =go out, leave

* [te-form] H = even if ~

723, =<used to get someone's attention or press one's point>

Even if we leave one hour earlier, (it will be useless.)

Ui S
$H D FwlE = that traffic jam + (& <topic particle> /
H>& =more/
[ZSd

B h5 =fromearly /
[FU

WBE > T % =HFE > 7T L35 = <plain-style-nonpast-affirmative> of 8% > T WLWX T =be

starting now
*3hE D FJ g1 = start, begin

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
M5 =because ~ /
Ro =....,isntit? ; ..... , am | right? <confirmation particle> //

Because that traffic jam starts from much earlier.

M2:

£o715 =ifit's the case /

Lw>ZA U DA

i #) s B = hour for reporting to work + % (also) /

Fv [ZSd

BLITNEF ESTLELD, =B TNEF ES TLU KD D =more polite than E< I 1(dF &
> TYhHH. =Why don’'t we make ~ early? <suggestion>

* B Inid =if (X) make ~ early = conditional-form of £< U X9 (make ~ early)

* (A) % [stem of i-adjective] < U X T, (A) Z [stem of na-adjective] IC U F 9 = make (A)

[adjective]
*(A) %Z [noun] I UE 9 =make (A) [noun]

* [plain-style-past] 5 &5 T39I H =Whydon’t you do ~? ; Why don’t we do ~? ; How about
doing ~? ; | suggest to you that you should do ~. <suggestion> ¥ ‘[plain-style-past] 5’ can

be changed to ‘conditional-form’.
*TU & DH =|[plain-style (but, ‘da’ in [na-adjective / noun] da’ must be omitted.)] TU & > H

is more polite than the question which ends the normal polite-style, and is often used when you
question your superior.
*Actually TU & 3 means ‘1 Probably ....... 2 e , right? //
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if it is the case, why don’t we make the hour for reporting to work early?

M1:
LA =but/
RZ. =..,isntit?; ..., am | right? <confirmation particle> /

Lwo>ZA U DA

HE) KA E < 723 D =the fact that the hour for reporting to work becomes early

* 78 % = <plain-style-nonpast-affirmative> of 7& D &9 g1 = become

* [stem of i-adjective] < 7& D £ ; [na-adjective] IC & D ¥J = become [adjective]

* [noun] IC 7& D ¥9 = become [noun] /

|& <topic particle> /

WS W5 = various /

%’Ei L\ = <plain-style-nonpast-affirmative> of ¥t L L\T 9 = (X) is difficult /

A U 730 = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] A U »7&L =
<plain-style> of ... L U D XEAD =....., | wonder, don’t you think so? ; ....., | wonder, |
want to confirm with you — A can be changed to @. U % can be changed to T (&. /

M7, =[[plain-style (‘da’ in [na-adjective / noun] da’ must be omitted.)] H\7/& = ...... , | wonder? //

But, the fact that the hour for reporting to work becomes early will be difficult in many ways,
don’t you think so?

M2:
HH. €D TI1R. D—ho =Ah, | see. Hmm.

F:
HDS, =Uh ..., Errr .../
TUL7 5, =more polite than 72> /=5, =ifit’s the case, //

WE [FWe2 =

SO EEIL— b %Z RO T D = the fact that (X) decided the current delivery route
* SR 7= = decided = <plain-style-past-affirmative> of R & 9 g2 (decide) /

|& <topic particle> /

H > =already /

TR FZ

BEZ BITY = (X) happened a very (extremely, surprisingly, considerably) long ago
M5, =because ~ //

Because we decided the current delivery route a very long ago. (The long time has already
passed since we decided the current delivery route.
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M1:
Z DM =plain-style of 25 TI H. =1see.;lsthat so? //

U 3. =if thatis the case, then /

P oD =as | thought, as | guessed, after all /
% Z % =there + Z <direct-object particle> /
FhES

RETTZ = <plain-style-nonpast-affirmative> of #53 ¢ 39" = (X) consideration (examination,

investigation)
7%, = <used to convince oneself>

Then, we should consider that point. | am convincing myself.

HAREW HhWiF>

MRE%Z BRI B f=sIc. =in order to solve the problem
* #7319 % = <plain-style-nonpast-affirmative> of ##2 L £ 9 = settle, solve

* [plain-style (but, ‘da’ of ‘[na-adjective] da’ becomes ‘na’ and ‘da’ of ‘[noun] da’ becomes ‘no’.)]

eI =1 because ~, die to ~ <cause, reason> 2 in order to do ~, for (the benefit of) ~

<purpose>

%% = what + %Z <direct-object particle> /

&E%D? Z & [ ULE U7t =decided to look again

* BB = <plain-style-nonpast-affirmative> of R E LU ¥ 9 g1 = look again, get a better opinion

of
* [dictionary-form / nai-form] Z & (C U &9 = decide to do ~, decide no to do ~

M <question particle> //

What did they look again (in order) to solve the problem?

BAL®SIESFES

RZ4/X\—D & 737% = the training method of a driver /

2

[FWe>

fic;E)L— k= the delivery route /

3
Ic® D =l Z U b A
% BHAAED KR = the hour when they load baggage
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* FEHIAE = <plain-style-nonpast-affirmative> of FE#AH £ 9 g1 = load /

@ HE) KA = the hour for reporting to work in the morning

B v& 137

TLETED ANFELT WET, =0nTV, the man is talking. //

FWeWT A DDV . . N . .
EHEE SN = a mobile telephone company + ' <subject particle> /

H 5 W FWwewtT A b

IREDEREE D 74 77 % =the idea of ‘future mobile phone’ + % <direct-object

particle> /
FLw>

BE U &2 3. =(X) recruited and | tell what happened. ~
* 25 Uz = recruited = <plain-style-past-affirmative> of 5 U £ 9 g3 (recruit, advertise for,

ask for, collect, accept (application))
* [ta-form] & Z % = (X) did ~ and | tell you what happened. ~ (N2 No0.90)

W5 FATA
1 5% =ten thousand items + % <direct-object particle> /

Eilﬁloé = <plain-style-nonpast-affirmative> of _L[5]D ¥9 g1 = exceed, transcend, excel /

EE'T\D%% = application, subscription /

— the applications which exceeded ten thousand

¥ <subject particle> /

3 > o = there was ~ = <plain-style-past-affirmative> of % D £ 9 g1 (there is ~, have, exist) /

€2 CY, =[plain-style] >3 =1 hear that ~, | heard that ~ //

A mobile telephone company advertised for the ideas of ‘future mobile telephone’ and | tell what
happened. | hear that there were over ten thousand applications.

EX e

S HIZ =today + |& <topic particle> /
i

ZDHMN 5, =from those things

* Z M = wherein, therein, thereinto /

BwS5Lw>SL&D

83 E = award of excellence, merit award /
[/

Cl
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ZE (I 7z = was chosen = <plain-style-past-affirmative> of (&1L %X 9 (be chosen) which is the
passive-verb of ZEU'E 9 g1 (choose, select)

42 D 7477 IDWT = about (regarding, concerning) four ideas /

— the four ideas which were selected as the award of excellent

(ﬂl? jgyr ideas which received the award of excellent)

CENAULEXU &£ 50 =humble-verb of #8/M U E U & S = Let’s introduce. ; | shall introduce

* & [masu-form] U E 9 g3 = humble-verb % We use C instead of & for some words. //

Today, | shall introduce the four ideas which received the award of excellent from those things
(over ten thousand applications).

F£ 9. =first of all, to start with, to begin with, first, firstly /

W5 STE F Wi

18D 714773 BiREt8 T9, The first idea is the wristwatch type (mobile handphone). /

Firstly, | would like to talk about the first idea which is the wristwatch type.

Wo A
— B = at first sight, at first glance, as it first seemed /

é'é?x%@f%%tl: = a normal wristwatch /

ic/

%ii@“ = be visible, can be seen

*[noun] IC R ZF 9 = (X) look like [noun] /

H. =1but 2 <used to show a hesitation> //

At first glance, it looks like a normal wristwatch, but

TAD

R A
NIV SERRHY BEEIC 72> T WX T, =The part of the belt is a telephone.
* [stem of i-adjective] < 7% D T ; [na-adjective] IC & D £ = become [adjective]
* [noun] IC 7& D ¥9 =become [noun] //

icidh nife

2&FIE RVEID D, =The second one is the pen type one (mobile telephone). /

—

DL RESH D R = a bit big pen
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* KE 8 = largish, biggish, a little bit larger /

EWVWSREUT, =&WS EUTY, £LT. =feel like ~and ...

* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, ‘{[stem of i-adjective] <’is also used to be more

formal. /
Ry M = pocket + I <recipient particle> /

5
=Z=UT &IFE£Y, =can push in beforehand = potential-verb of ZL T £ Z £ 9 = pushin

beforehand
* 2Z U F 9 g1 = <This word has many meanings. In this case it means ‘push in’.>

* [te-form] & E X9 =1 do ~ beforehand (in advance) 2 do ~ for future convenience 3

leave ~ asitis/

| feel like that it is a bit big pen and you put it inside your pocket in advance (for future
convenience).

H55A. =of course /

RvEULT=asapen (N2No.1)/

t=also/

X %9, =can use, be able to use = potential-verb of £\L\E 9" g1 (use) //

Of course you can use it as a pen.

ShiEh H WL

w
3FIF. BRITA XD H—REBD £ DT, =The third one is the card type one (mobile
phone) whose size is the same as the name card (businesses card). //

HULWTY L. =(X)is thin and what’s more ...

* L. =[plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~
<often used to list reasons> Yt We can use the polite-style right before L to be more polite. /
E&>& =alittle/

B 7£1F T = Dby (means of) just looking at ~

* B fc = <plain-style-past-affirmative> of B & 9 sg2 (see, watch, look) /

|& <topic particle> /
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H—K =card/

&/

B> 7T LEW Z5TTY =itlooks like that (X) take ~ for ~

*EE>7T LEWET =toone’s regret, (X) make a mistake

* B UVE 9 g1 = make a mistake, be incorrect, be mistaken, make an error, mistake

* [te-form] UL EWLWE T g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~ de shimaimasu— ~jaimasu

* [masu-form / stem of i-adjective / stem of na-adjective] > T9 =it looks like that ~, (X) is
going to do ~ at any moment /

o =....,isntit?; ....., am | right? <confirmation particle> //

It (the card type mobile phone) is thin and what’s more it looks like that we are going to take it
for a normal card by just looking at it (by its appearance only).

T wo EY -9 e ARV

RED 4FD 7AT7E. I\ HFEOD #EFTI, =The fourth and the last idea is the
handkerchief type mobile phone. //

03

I\ T F % [KF Tz Y+ X = the size that (X) spread a handkerchief

* [INlF 1= = spread = <plain-style-past-affirmative> of 57 £ 9 g2 (spread)

Ay

DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ® T = because ~ /*
Basically we use the plain-style right before ‘D T’, however, we can use the polite-style to be
more formal. /

Mo A

IEH (& = terminal screen, scene, picture, the field (in TV), photo + (& <topic particle> /
BB
ETH KEWTT, =(X)is very big. /

Because its size is as large as a handkerchief, the screen is very big.

TH, =but/

2 W

%ML = raw materials, subject matter, content /
b

& 5 H\L\ = <plain-style-nonpast-affirmative> of £ 5 MW TI = (X) is soft /
DT = [plain-style (but, ‘da’ of ‘[na-adjective / noun] da’ becomes ‘na’.)] ®C = because ~ /*
Basically we use the plain-style right before ‘T, however, we can use the polite-style to be

more formal. /
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E) fele

TOHEAT=DEH#FT, £LT. =foldinto layers and ....

*#rh BH FE I =fold into layers, fold up, double or bend something over upon itself

* te-form is often used to join sentences or to mean ‘by (means of) doing ~, with doing ~’. And

it is sometimes used to show reason as well. /
R w MR E = pocket, etc /

IC <recipient particle> /
ANSnNZET, =can putin, be able to put in = potential-verb of A1 &9 g2 (put in) //

But the row material is soft, so you can fold it up and put it in your pocket, etc.

iiI = more than ~, the above-mentioned /

;49’D‘= four (small objects) /

Z‘b%%nj?;\“b F U fc = humble-verb of #5841 U & U 7 = introduced

* & [masu-form] UL £ 9 g3 = humble-verb Y% We use C instead of & for some words.
H. =1but 2 <used to show a hesitation>/

ARV =%

C h73 #EHH' = a mobile telephone like this + %' <subject particle> /

%%-_—Ll?t: = really, truly

TEcH. =if (X) is completed

* T & fc = <plain-style-past-affirmative> of TZ &9 sg2 (1 can do, be able to do 2 be ready,

be completed, be finished)
* [plain-style-past] © = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell

you what happened /

fe®

L £S5 7TY =it looks like that (X) is enjoyable, (X) looks enjoyable
o =....,isntit?; ....., am | right? <confirmation particle> //

As shown above, | introduced four ideas. If mobile telephones like these are really
manufactured, it looks fun.

F:

WBA & =W3BW3 /3 = various /

74 T 7 H =idea + H <subject particle> /

&% % = <plain-style-nonpast-affirmative> of 3% D £ 9 g1 (there is ~, have, exist) /

H D = <plain-style-nonpast-affirmative> of £ M T9 =...., | am deeply impressed. (N2 No.
110A)
o =....,isN'tit? ; ....., am | right? <confirmation particle> //
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There are various ideas. | am deeply impressed by them.

M2:
AL TZ = <plain-style-nonpast-affirmative> of &% T = (X) is true
o =....,isntit?; ....., am | right? <confirmation particle> //

What you have said is correct.

TH. =but/
ENH =any ~, all ~, every ~ /
INE < 72> T W< = <plain-style-nonpast-affirmative> of /N& < 72> T LWE X T = continue to

become small

* [stem of i-adjective] < 7D £ T ; [na-adjective] IC & D ¥ I = become [adjective]
* [noun] IC 7& D ¥9 = become [noun]

* [te-form] L & F 9 = continue to do ~, keep doing ~, carry on doing ~ /

EF52>5

A ME7E = <plain-style-nonpast-affirmative> of 5@ T9 = (X) is a direction /
o =....,isntit? ; ....., am | right? <confirmation particle> /

But, any (mobile telephone) has a tendency to become smaller.

F:
% D1 = <plain-style-nonpast-affirmative> of € > T9J 13, = That’s right.; | agree with you. /

WE Wb&>

% DI_EIC = more that now /

E T H = somewhere /

IC <arrival particle>

BE TN 5» W\ £, =<plain-style-nonpast-affirmative> of EE S 5 W\ £S5 TY =& &
HNT LEXW Z5TYT =to one’s regret, it looks like that (X) leave ~ behind

*BEZNET g2 = leave behind, misplace, forget

* [te-form] L E WX F g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely * ~ te
shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu

* [masu-form / stem of i-adjective / stem of na-adjective] > T9 =it looks like that ~, (X) is
going to do ~ at any moment //
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It looks like that | leave it (a mobile telephone) behind more frequently than now.

Z(D%B = some time ago, recently, lately + & (also) /

%’é%\% = coffee lounge, coffee shop, (rather formal) cafe /

IC <existence particle>

BNTEBE»>TC=5NT & Byofce £LT. =toone’s regret, (X) left behind and .....
*BNT E 557z =to one’s regret, (X) left behind = <plain-style-past-affirmative> of ‘51T
EBEPVET (BNT ET LXRWXT) (to one’s regret, (X) leave behind)

* BN T XY =leave behind, forget and come

* [te-form] UL EWEJ g1 =1 to one’s regret, he does ~ 2 finish doing ~ completely

:L:/ute shimaimasu — ~chaimasu*~de shimaimasu— ~jaimasu//

KRZ 12 - o = was awful = <plain-style-past-affirmative> of XZ T ((X) is awful (terrible,

dreadful, horrible)) /
@D = <plain-style-nonpast-affirmative> of ‘[plain-style (but, ‘da’ of ‘[na-adjective / noun] da’

becomes ‘na’.)] A TY ' =...... , l wonder ; ...... , | doubt ; ..... , | want to draw your attention ; ..... ) |
want to emphasize ; ....., | really want to say so ; because ...... — A, can be changed to @. //
&Ko =...., you know? ; ..... | tell you. ; ..... , | am convinced. //

| left (my mobile telephone) at the cafe some time ago, so | had a awful experience.

M2:
Z 2 o>1zh. =<plain-style> of =5 TU /1, =That’s right. //

£725 =if you — if you choose a mobile handphone,

ENhHY = which + ¥ <subject particle> /

LYLY = <plain-style-nonpast-affirmative> of L\L\TJ = (X) is good
/i

If you choose one idea out of four, which is good for you?

ElC = arm + [C <recipient particle> /

Ijé?ﬁ = directly /

D515 D =the one that (X) can attach
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* Dl 5N 5 = <plain-style-nonpast-affirmative> of 2|7 5%1& 9 which is the potential-verb
(can attach, be able to attach) or the passive-verb (be attached) of D3 &3 g2 (attach) /
ok, =if (X)is ~

* 12 > = = [na-adjective, noun] /2 o /= = (X) was ~ = <plain-style-past-affirmative> of ‘[na-
adjective, noun] T9’=is (are, am)

* [plain-style-past] 5 = if (X) do / don’t do ~, when (X) do ~, after (X) do ~, (X) did ~ and | tell
you what happened /

%fﬂf: = <plain-style-nonpast-affirmative> of Z/[: T 9 = (X) is relief (peace of mind)

M5, =because ~/

el -

FA%R S =if | — if | choose /

Zh =this/

o =....,isntit?; ....., am | right? <confirmation particle> //

If it (a mobile telephone) is the one which | can attach on my arm (wrist), | feel relieved, so if |
choose, | will take this.

M2:
% 2121 = <plain-style-nonpast-affirmative> of %> T9J 13, = That's right. ; | agree with

you. //

Y3 % > DEF = when jogging /
H =also/
NhD

{EF] % S /2 = <plain-style-nonpast-affirmative> of {EF]% > T3 =it looks like that (X) is

convenient, (X) looks convenient /
U = [plain-style] L. =~ and ~, because ~, ~ and what’t more ~, not only ~ but also ~

<often used to list reasons> ¢ We can use the polite-style right before U to be more polite. /
o =....,isn’tit?; ....., am | right? <confirmation particle> //

Because it looks convenient when jogging and ....

1F<

L. =1+ [& <topic particle>

M A

EEA' = screen + H' <subject particle> /

&H

RELCT=KEWL, LT, =(X)isbigand ....

* KZ L) = <plain-style-nonpast-affirmative> of XK= WL\ TY = (X) is big
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* To join the sentence which ends with [i- adjective / na-adjective / noun] T3’ to another
sentence, ‘[stem of i-adjective] < T or [stem of na-adjective / noun] ’is used . We call them

te-form of an adjective and a noun. To join adjectives, we also use te-form of an adjective. And it
is sometimes used to show reason as well. te-form of an adjective and a noun can be used in
either the nonpast sentence or the past sentence.

* In addition to ‘[stem of i-adjective] < T’, [stem of i-adjective] < ’is also used to be more

formal. /

% P9 L\ = <plain-style-nonpast-affirmative> of & © 3L\ TY = (X) is easy to see
* [masu-form] *> 9 L\T9 = be easy to do ~, do ~ easily /

@ = the one, the thing /

— the one whose screen is big and is easy to see

Y <subject particle> /

LVLY = <plain-style-nonpast-affirmative> of L\W T 9 = (X) is good /

7%, = <used to convince oneself> //

| want to get the one whose screen is bis and is easy to see.

U
ZFHYIINE L D (F = the one whose words are small + (& <topic particle> /
723, =<used to get someone's attention or press one's point> //

(I don't like) the one whose words are small.

BH 1 = question particle 1
BAIE V& . Fufzuy N = Ly
ZDOANIF EDERH KIS A>T WETH, =Which mobile telephone does the woman like?
* I AD T g1 = like, be fond of, prefer
Fh Umﬂ
1HFDET
2EDEET
IEFDEET
AFE DT

A WO ND =

(X< Fufz iy =

BEDAE EOEEN TS A>T WETH, = Which mobile telephone does the man like?
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* KU AD £ g1 =like, be fond of, prefer
oY
2E DS
SEDET
AEDEET

A WO N =
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